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BzaM. uHB. N | WUHB. N gybn.

llogn. u gama

NuB.N nog.

Obo3HaueHue HaumeHoBaHue A b B M I
0116.456634.017 NB324-15/3 24-45/3 +5B| -5B | 248
-04| WB324-%12/1,3 -04 | 24-412/1,3 |+12B| —12B| 24B
-02| WB324—%15/1 -02 | 24-415/1 +15B | —15B| 24B
-12| WB324-%30/0,5 -12 | 24-430/0,5 |+30B| —30B| 24B
-13| W¥B324-136/0,4 —-13 | 24-1436/0,4 |+36B| —36B| 24B
-01| ¥B360-15/1 -01 | 60-15/3 +5B| -5B | 60B
-05| MB360-%12/1,3 -05 | 60-+12/1,3 |+12B] —12B| 60B
—-03| /B360-%15/1 —03 | 60-%15/1 +15B | —15B| 60B
-14|  UMB360-%30/0,5 -14 | 60-130/0,5 |+30B| —30B| 60B
-15| WMB360-+36/0,4 -15 | 60-136/0,4 |+36B| —36B| 60B
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